EXHBELRL FBREHNUTZRBARESEHEN - AT RENRERXHHEEE - —GFHE -
EREQARAZER

BEERBER

HEARZBERAEWNER “F— _"F ALK -F—=4F AN ML
o i B T O R o B i B S ) B B 2E R W RE BB A BR A B oL o i B B 2
KGR HEARAA MMM rER ETE ARKIOT Eoon R R BEHE X
SO BR e (db ) B RCA BR A R S > 4 Bl B 7 K T BR g (b o) B4 A BR A H
£ H90% K 10% -

R ME R EER MRS ER — S R RS ER 8 o
B ZF = AR K N AR RO B A R B R R O M [ A
s IR e el VK S VAW 1 e GRI A) I o NI 0 Tl R W
F MG 4 [ e o

THHEMESBEAE A RS AR Z EEER R

F 2 ER

SR LHA T B 3 Bl 5L

“E =LA X A 57

R =+ 2N T AR B R M — ) M g R b & 52
—EF—E—H T AR 9% M — W B iR g TR DAt B
—E—-MEA+H o 5% 0 W B fn 58 R DA It
—F—RAE A T 48 B TR M W B O

TR -RNEZN T 0 R R OE
“E-NELHA T AR 9% W U B R DA It 8
—E—RNENHA T 48 B TR M — W) b Bk R RO Bk R R
—EZEFEARNA T AR B M R A TE T R A R

ER AP A/ARSD S SR U

>

142 -



EXHBELRL FBREHNUTZRBARESEHEN - AT RENRERXHHEEE - —GFHE -
EREQARAZER

MEER

M ELAE A2 EEEEMB AR BN F— 4 JLA £ H R B R
5 A BREAL 2\ > AR M E AR A N R 10,000,000 G 0 2 & BUAL AL o A H O 5L
Iy > Hp 159 B 2E R B BE BB A BR A R R A A BB R 4R o by BB UL 2% 2 RS vT L E
EIECRBETE R 2 BB - il st - Rt A E -

AR —ZAENH A H o R B2 K BE R A R S W B 5 T oL A A
O K o R UG 0 S K RE R A PR R R B 1) R O e L b g L 2
2 R RE > AE A N R 10,000,000 7C o A B GE 2 AR Y A8 S % 0 e L3 2 GE it
EARBEEE AU LR R ERN AT N2 HEEEWE A A -

W E—HE—HTILH B I EARH AR 10,000,000 T # =
A R 438,274,000 c M it —F—HHFE+—H +/VH#E— L2 FE AR 466,025,000
TG AT B R AR o

B R

RERMAE N ZHEHEEZEWMB AR > BN =4 JLH+ /CH K H E
SEAAREATAF WG E A A LR ¥5,000,0007T > 4 Al BB 5 K HE IR fE (b
50 B4 A R R A 90% M 10% o o g I 2 2E RS B T A B A R O AR 8 R W PR
BWoma S ELEM

RO E—-RHAE—H-EH > RMEBREE L a0 BB A R A 7B R o7 A%
SRR PR R BRAE (L 5 BB A R A A A & ) E 7 dE o R O R 2
10% B HE > B 25 N R 200,000 00 » FE A DL b B fEw > BRI R A E 2 B
H2EWE A A kM E A AR 5,000,000 70 B 5 K H#H L -
BEERQRRAZRARARE
i RWBE=EEA

IR B B 0 TE AT R A 2 ED e B RE R

i)
()
100%
o i L2 R
() ()

~ 143 -



AXHBELRL FTRENE T TBAREFHEX AU BRENREAXMHEEE |- — G HE -

EREQAAZE®R

(ii)

RUBBEER

A SR BB U E AR AR A 2 A S SR RE R

(BB 7 ~ AR~ P B R 1 LR B E 2 B AUZE )

Sz ES A
(FAE) (FIZEE)
100% 100%
Lo LR B (E9=3
(HEGIE L) (G IE LT
19% 81%
H
(HefiG 1 4 AT )
100%
AL
(i)
100%
G BB A 2
()
100% 100%
L AT
(k) (1)

ERERBIE = F—ANFENA A = H G L w5 et M or 2 25/l A%
R AT <y AT

IR E B A 1T H A £ B ] K 2 Al AT 1R A I 1.00 55 0T 2 IR
A P GE R 50,000 8 4 T 1.0055 T5 2 14 - (£ B2 FEZEH L H

2 HEAR L] -

~ 144 -



EXHBELRL FBREHNUTZRBARESEHEN - AT RENRERXHHEEE - —GFHE -
EREQARAZER

WEBEERGRE

BEFE DR B R E Ty b BB S e BB T L W
o PR UL (R O A R R R T 0 T R B SE O A R R R G R a8 S
Be R 81% B HE o A B W W R TH 2 RE 0 W2 B AR bR [ EE S R K R
HEAH-1L W FIE] -

W fE E B T A
SE BTE R AS 2 bR [ S g ek PR ) — B P e R R R ) — BT 2

i & BT A 5T P W A i R R O (B DL T ) AR R S R B (B BB S R
HEE AT R E 2 HoA B ) V5 H -

~ 145 -



